Solve each of the following problems. Your solutions must be organized and neat, as well as justified appropriately and properly to
receive partial to full credit.

(1a) Consider the following diagram. Find mC]J.

mc) = 9%

Explain in words your reasoning on finding mZ? using correct geometric
terminology.
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(1b) Consider the following diagram. Find mFG and m< FHG.

’ 2210 m< FHG = _50° mFG = \00°

Explain in words your reasoning on finding m< FHG using correct
geometric terminology.
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Explain in words your reasoning on finding mFG using correct geometric
terminology.
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Solve each of the following problems. Your solutions must be organized and neat, as well as justified appropriately and properly to
receive partial to full credit.

Use Diagram 2 to answer the information.

| A (2a) Consider< 1 =11x —1and < 8 =9x + 11. Find x.
YT k-2 = 9+l
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(2b) Explain in words your reasoning in determining (1a).

< nd<® are (,m\@m% becmse B ’Lw‘\@\zg awe alomade exbenio M\@\eé.

(2c) Find <3. Explain in words your reasoning in determining this considered angle.

A=N(01=(5 <3=15" becanse <| anh<3 qre cupgLimenary gince te L andes aie
<3=1%0-05= 15 lrar pa.



Solve each of the following problems. Your solutions must be organized and neat, as well as justified appropriately and properly to
receive partial to full credit.

Jaden’s ball is thrown upwards from a rooftop, 80 meters above the ground. It will reach a maximum vertical height and fall
back to the ground. The height of the ball from the ground at time ¢ seconds is given by the height function,
h(t) = —16t? + 64t + 80.

(3a) What is the height reached by the ball after 1 second?

A = - A" + (44 +80
£=2 secwds

W)= - bB) 4 (A3) 19U = 128 meters

(3b) What is the maximum height reached by the ball? Explain how you found your answer.
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(3c) How long will it take before hitting the ground? Explain how you found your answer.

B =-ALE o + €0 P =5 ceamds, oy ball hitsthv found.
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Solve each of the following problems. Your solutions must be organized and neat, as well as justified appropriately and properly to
receive partial to full credit.

Billy is creating a circular garden divided into 8 equal sections. The diameter of the garden is 12 feet.

US g
Geecdims
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(4a) What is the area of one section of the garden? Explain how you determined your answer.
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(4b) What is the distance between each section of the garden7 Explain how you determined your answer.
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Solve each of the following problems. Your solutions must be organized and neat, as well as justified appropriately and properly to
receive partial to full credit.

Jane and Mark each build ramps to jump their remote-controlled cars.
Both ramps are right triangles when viewed from the side. The incline of Jane’s ramp has an angle of
elevation of 30 degrees and the length of the inclined ramp is 14 inches. The incline of Mark’s ramp has

an angle of elevation of 45 degrees and the length of the inclined ramp is 10 inches.

(5a) What is the horizontal length of the base of Jane’s ramp and the base of Mark’s ramp? Show or
explain your work.
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(5b) Which car is launched from the highest point? Justify your answer by providing an explanation.
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